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Unit 5A – Logic and Reasoning Review
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ALGEBRA Quadrilateral JKMN is a rectangle.

7. IENQ = 5x — 3and QM = 4x + 6, find NK.
8. IFNQ = 2x + 3and QK = 5v — 9, find JQ.
9. IfNM = 8x — 14 and JK = 2% + 1, find JK.

10. If m/NJM = 2x — 3 and mZKJM = x + 5, find x. N
1. If mZNKM = 22 + 4 and mZKNM = x + 30, find mZJKN.
12. If mZJKN = 2x2 + 2 and mZNKM = 14x, find x.
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Use CINQRM to find each measure or value. (1esson6-2)
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ALGEBRA Find x and y so that each quadrilateral is a parallelogram.
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35. Given:

Prove:

PQST is a rectangle.
OR=VT
PR =V5

Q
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36. Given: DEAC and FEAB are rectangles.
LGKH = ZJHK
GJ and HK intersect at L.
Prove: GHJK is a parallelogram.
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12. Given: ATPX = AQPX =

AQRX = ATRX
Prove: TPQR is a rhombus.
P, Q
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13. Given: ALGK=AMJK
GHJK is a parallelogram.
Prove: GHJK is a thombus.
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1. PROOF_CDFG is an isosceles trapezoid with
bases CD and FG. Write a flow proof to prove
ZDGF = /CFG.
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11. Given: AWZY = AWXY,
AWZY and AXYZ
are isosceles.

Prove:  WXYZ is a rhombus.
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7. Given: HJ | CK, : ATZX = AYXZ,

AHGK = AJKG, HG }JR WX} ZY
Prove: GHK is an isosceles Prove: XYZW is a trapezoid.
trapezoid.
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9. Given:

ZYXP is an isosceles
trapezoid.

: APWX is isosceles.
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10. Given: E and C are midpoints of
AD and DB; AD = DB and
LA=/1.
Prove: ABCE is an isosceles trapezoid.
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ALGEBRA In rhombus LMPQ, m£ZQLM = 2x* — 10,
mZQPM = 8x, and MP = 10. Find the indicated measures.
36. m/LPQ 37. QL

38. m/LQP 39. m/LOM
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4A. ALGEBRA JKLM is an isosceles trapezoid with JK || LM and median RP.
Find RP if JK=2(x +3), RP =5+ x,and ML= 2x — 1.

4B. Find the measure of each base angle of JKLM if m/L = x and
mlf=3x+12.
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ALGEBRA Use rectangle LMNP, parallelogram LKM], and the given
information to solve each problem. (leson 54)

42 IFLN=10,1] = 2x+ 1,and P] = 3x — 1, find x.
43, 1 m/PLK = 110, find mZLKM.
4. 16 m/MJN = 35, find mZ MPN.









